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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 



 [ 2 ]  FM–2110 

A-93 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Enumerate the factors which are to be considered 

before installing a system of Cost Accounting in a 

manufacturing organisation.  

mu dkjdksa dh O;k[;k dhft, ftudks ,d fuekZ.kh laLFkk esa 

ykxr ys[kkadu iz.kkyh dks LFkkfir djus ls iwoZ /;ku esa 

j[kk tkrk gSA  

2. Explain the relevance of a cost management system of 

an organization.  

,d laLFkk ds ykxr izcU/k iz.kkyh ds vkSfpR; dh O;k[;k 

dhft,A  

3. Explain the features of service organization which may 

create problems for the application of activity based 

costing. 

lsok laLFkk dh mu fo’ks”krkvksa dh O;k[;k dhft, tks 

xfrfof/k vk/kkfjr ykxr ds ikyu eas leL;k,¡ mRiUu dj 

ldrh gSaA 

4. How is Cost Audit useful to management, society, 

shareholders and government ?   

izcU/k ra=] lekt] va’k/kkjh rFkk ljdkj ds fy;s ykxr 

vads{k.k fdl izdkj ykHkdkjh gS \ 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss any four of the folloing : 

fuEufyf[kr esa ls fdUgh pkj ij la{ksi esa ppkZ dhft, % 

1. Strategic relevance of Cost Management System.   

ykxr izcU/k iz.kkyh dh lkefjd izklafxdrkA  

2. Importance of target costing for a manufacturing 

organisation.   

,d fuekZ.kh laLFkk ds fy;s yf{kr ykxr dk egRoA  

3. Economics of business process outsourcing.  

O;olk; izfØ;k vkmVlksflZax dk vFkZ’kkL=A  

4. Importance of cost reduction analysis for an 

organization.  

,d laLFkk ds fy;s ykxr dVkSrh fo’ys”k.k dk egRoA  

5. Importance of value engineering control of wastage, 

spoilage and defective goods.   

viO;;] jn~nh eky rFkk =fqViw.kZ eky esa ewY; vfHk;a=d 

fu;a=d dk egRoA  

6. Steps involved in decision-making.  

fu.kZ;u eas lfUufgr pj.kA  
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7. Measurement and control of environmental cost.  

i;kZoj.k lEcU/kh ykxr dk ekiu rFkk fu;a=.kA  

8. Safety audits.  

lqj{kk vads{k.kA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following.   

fuEufyf[kr ds lkeus lR;@vlR; fyf[k,A  

1. Cost Accounting is a rigid system.  

ykxr ys[kkadu ,d tM+ iz.kkyh gSA  

2. Activity based budgeting is a development of 

conventional budgeting system based on activity 

analysis.  

xfrfof/k fo’ys”k.k ij xfrfof/k vk/kkfjr ctfVax ,d fodkl 

gS xfrfof/k vk/kkfjr ijEijkxr ctfVax iz.kkyh dkA  

3. Target costing is a cost management tool for reducing 

the overall cost of a product over its entires life cycle.  

y{; ykxr ,d ykxr izcU/ku midj.k gS tks mRikn dh 

dqy ykxr esa mlds iw.kZ thou pØ esa deh djrk gSA 



 [ 5 ]  FM–2110 

A-93 P. T. O. 

4. Profitability is the ratio of a system‟s output to inputs.   

,d iz.kkyh ds mRiknu@fuxZr ls vkxr@vknkuksa dk 

vuqikr ykHknk;drk gSA  

5. The propriety audit refers to verification of transaction 

on the tests of public interest.  

ekfydkuk vads{k.k mu ysunsuksa dh tk¡p gS tks tufgr ds 

ijh{k.kksa ls lEcfU/kr gSA  

Indicate the correct answer options.  

mŸkj ds fy;s lgh fodYi dk pquko dhft,A  

6. The scope of Cost Accounting is ......... than 

Management Accounting.  

(a) narrow  

(b) wider  

(c) elaborate 

(d) limited  

ykxr ys[kkadu dk foLrkj izcU/ku ys[kkadu ls 
--------------

 gSA 

¼v½ NksVk 

¼c½ cM+k 

¼l½ fOkLrkfjr 

¼n½ lhfer 

7. Cost Accounting is an .......... reporting system for an 

organisation.  

(a) external  
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(b) government  

(c) financial  

(d) internal  

,d laLFkk ds fy;s ykxr ys[kkadu ------------------ izfrosnu 

iz.kkyh gSA 

¼v½ cká 

¼c½ ljdkjh 

¼l½ foŸkh;  

¼n½ vkarfjd  

8. ........... is the final to which costs are traced.  

(a) Cost object  

(b) Cost pool  

(c) Cost driver  

(d) Cost activity  
---------------

 vafre gS ftl ij ykHk fpfUgr dh tkrh gSA  

¼v½ ykxr mn~ns’; 

¼c½ ,df=r ykxr  

¼l½ ykxr pkyd 

¼n½ ykxr xfrfof/k 

9. The appropriate cost driver for maintenance cost pool 

is :   

(a) No. of customers  

(b) No. of setups  

(c) No. of machine hours  

(d) No. of deliveries  
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vuqj{k.k ,df=r ykxr ds fy;s mi;qDr ykxr pkyd gS % 

¼v½ xzkgdksa dh la[;k 

¼c½ foU;kl dh la[;k 

¼l½ e’khu ?k.Vksa dh la[;k 

¼n½ lqiqnZxh dh la[;k  

Answer the following question.  

fuEufyf[kr iz’u dk mŸkj nhft,A  

10. Write the formula to calculate partial productivity 

measurement.   

vkaf’kd mRikndrk ekiu dh x.kuk djus ds fy;s lw= 

fyf[k,A  
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